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A pipe with two open ends is shown below. The length of the
pipe is Tm and the speed of sound is 343 m/s. What is the first
harmonic frequency of the sound wave created in this pipe?
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A pipe with two close ends is shown below. The length of the
pipe is Tm and the speed of sound is 343 m/s. What is the first
harmonic frequency of the sound wave created in this pipe?
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A pipe with one closed end is shown below. 428.75 Hz, 600.25
Hz and 771.75 Hz are three adjacent harmonic frequencies of
sound waves created in this pipe. What is the pipe’s first Lo
harmonic (lowest) frequency? ‘
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A string is vibrating at 300 Hz. Using a strobe light and an ultra
fast camera you get a picture of the string as sketched below.
The blue walls are separated by 1 meter. If the string were
vibrating in its lowest possible frequency, what would that
frequency be?

1. 50 Hz B
100 Hz

3. 150 Hz

4. 200 Hz

5. 300 Hz

6. None of the above
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A string is vibrating at 300 Hz. Using a strobe light and an ultra Lz 100
fast camera you get a picture of the string as sketched below.
The blue walls are separated by 1 meter. What is the speed of

the wave?

1. 50 m/s
2. 100 m/s
. 150 m/s
- 200 m/s
300 m/s

6. None of the above

A string is vibrating at 300 Hz. Using a strobe light and an ultra
fast camera you get a picture of the string as sketched below.
The blue walls are separated by 1 meter. As determined in the
previous question, the speed of the wave vibrating as shown is
200 m/s. what would its speed be if it were vibrating in the lowest
possible frequency?
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A symmetric pulse is approaching the right end of a string tied
to two walls, as shown below on the right. Which of the following
best represents the shape of the string after it has completely
reflected off the wall on the right?
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I 4. None of the above.
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A symmetric pulse is approaching the right end of a string tied
to two walls, as shown below on the right. At the precise moment
when half of the wave has hit the wall, which of the following

best represents the shape of the string?
—
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5. None of the above.

Two identical pulses move in opposite directions toward opposite
ends of a string tied to two walls, as shown on the right. Which of
the following represents possible shape(s) for the string after both
pulses have undergone reflections and meet somewhere in the
middle.
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6. None of the above.

Two point sources, P and Q, emit sound waves of equal
wavelengths (1) and amplitudes (A). If you want to have fully

constructive interference at point R, what has to be the phase
difference between P and Q7
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None of the above

P An pklerenct =

-

Two point sources, P and Q, emit sound waves of equal
wavelengths () and amplitudes (A). If you want to have fully
destructive interference at point R, what has to be the phase

difference between P and Q7
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Two point sources, P and Q, emit sound waves of equal
wavelengths (%) and amplitudes (A). This time, the point source
Q is moved closer to P as shown below. If you want to have fully
destructive interference at point R, what has to be the phase
difference between P and Q7 (The distance between P & Q is
/2, the distance between Q & R is 34/2.)
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